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void backtrack (int t)
{
if (t=>n) output(x);
else
for (int i={(n,t);i<=g(n,t);i++)
{
x[t]=h(D;
if (constraint(t) & & bound(t)) backtrack(t+1);
}
}
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void iterativeBacktrack ()

{

int t=1;
while (t=>0)
{
if {(n,0)<=g(n,t))
for (int i={(n,t) ;i<=g(n,t);i++)
{
x[t]=h(1);
if (constraint(t) & &.bound(t))
{
if (solution(t)) output(x);
else t++;
h

else t—
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}
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void backtrack (int t)
{
if (t>n) output(x);
else
for (int i=0;i<=1;i++)
i
x[t]=1;
if (constraint(t) & &bound(1)) backtrack(t+1);
}
}
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void backtrack (int t)

{
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if (t=>n) output(x);
else
for (int i=t;i<=n;i++)
{
swap(x[t], x[i]);
if (constraint(t) & & bound(t)) backtrack(t+1);
swap(x[t], x[i]);

}
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public class Loading

{

/B R

static int n; /B EFAEL

static int [ | w; /BRI
static int c; /)5 — B 3
static int cw; // T E

static int bestw; /) ST A L

public static int maxLoading (int [ ] ww, int cc)
i

/ /01 R A 2 B S B

n=ww. length—1;

W=ww;

c=cc;

cw=03

bestw=0;
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[/ R R LR E
backtrack(1) ;
return bestw;

}

VOACIR: KRS
private static void backtrack (int 1)
{//HRE 245
if (i>n)
{/ /3035 25 53
if (cw>bestw) bestw=cw;
return;
}
/R
if (ew+w[i]<=c)
{(//¥BETFW. A x[i]= 1
ewt+=wli];
backtrack(i+1);
cw—=w[1];
}
backtrack(Gi+1); //#ERATH

}
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public class Loading

{

e ¢3!

static int n; e+ tF

static int [ ] w; /)RR R A
static int c; [/ — R MR E
static int cw; // 2T 3 T

static int bestw; /) BET R



static int r; WE Pt ST i

public static int maxLoading (int [ ] ww, int cc)
{

/ /W R A2 B 1D

n=ww. length—1;

W= WW;

c=cc;

cw=03

bestw=0;

r=0;

/WAL

for (int i=1; i<=n; i++)

rt+=wli];

[/ R
backtrack(1);

return bestw;

/ /1 B ik
private static void backtrack (int i)
(//BEE ZEA
if (i>n)
{//3) M 25 &
if (cw>bestw) bestw=cw;
return;
}
[/ EFW
r—=wl[il;
if (ew+wl[i]<=c¢)
{(//BELETH
ewt=w[i];
backtrack(i+1);
cw—=wli];
}
if (ew+r>bestw) //HERLFH
backtrack(i+1);
rt+=wlil;

}
4. i L
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public class Loading

{
WE S ¢ a%!
static int n; WE %3 L
static int [ | w; /B A
static int c; WE B Ly e
static int cw; // A
static int bestw; // 240 e Bk
static int r; WE P 3 i
static int [ | x; // 2T i
static int [ ] bestx; // 2T AL R

public static int maxLoading (int [ ] ww, int cc, int [ ] xx)
{

/ /00 A A 2 B IR

n=ww. length—1;

W= WW3;

c=cc;

cw=03

bestw=0;

x=new int[n+1];

bestx= xx;

//FhE AL
for (int i=1; i<= n; i++)
r+=wli];

[/ R R
backtrack(1);

return bestw;

// 1m0
private static void backtrack (int i)
{(//BEE ZEA
if (i>n)
{//3) A 25 &
if (cw>>bestw)
{
for (int j=1; j<=n; j++)
bestx[j]=x[j];

bestw=cw;



